Unit #8 Integration

8.2 Integration By Sight
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Up to this point in the course we have been largely
concerned with finding the derivative of a given
function.

Today we are going to shift our focus to the
reverse process.
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This reverse process is called many things: anti-
derivative, integration, or finding the indefinite
integral.




The notation we use is:

-:b_:,i_‘i +/x +C

/ = X+ Tt ¢

?o,{e&&a




Example 1 Given f'(x) find f(x) for each of the following:
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Example 2: Find f(x)if f'(x)=6x* +12x 3
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Basic Integration Rules
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Example 2: Find f(x)if f'(x)=cosx—e"
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Example 3: Evaluate each integral.
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Example 4: Evaluate each integral.










Initial Value Problems

Find the function f(x) that passes through the
point (2,3) and has the derivative f'(x) = 2x + 7.
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